Y4 — Maths — Shape — Lesson 10

LO: 2d shapes
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triangle square rhombus rectangle parallelogram trapezium pentagon hexagon octagon

How a Venn diagram works...

tea coffee

just likes coffee

does not like tea or
coffee

Mr Roundtree

likes both tea and coffee
just likes tea

quadrilateral has a right angle
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Identify and explain the two mistakes in the Venn diagram.
1. The triangle should only be in the right angle section as it is not a quadrilateral.
2. The pentagon should not be in the Venn at all because it does not have any right angles.

quadrilateral has a right angle

Identify and explain the two mistakes in the Venn diagram.

1.
2,

regular shape more than three sides
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Here is a hexagon.

Draw two straight lines across the hexagon to make two triangles and two quadrilaterals.




